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fh4h <Model Name> ( ES1EY2—/L<POWER METER MODULE> )
44 <Model Number> ( 2331 )
5% 5<Serial No.> ( No. 110525179 )
R 4E A H <Test Date> ( 2011-05-25 )
<YYYY-MM-DD>
R 55 <Test Conditions> ( 24.2 °C, 56.2 %rh )
EE] Loy AN i W E
<Item>| <Range> <Input> <Tolerance> <Measured Value>
" <Accuracy>
EE<Voltage> (WIRING:3P4W) CH1 CH2 CH3
100V oV (DC) 0.0 V ~ 1.0V ( 0.0 V) ( 0.0 V) ( 0.0 V)
70V (60Hz) 69.0 V. ~ 710V ( 701 V) ( 701 V) ( 701 V)
100V (50Hz) 99.0 V. ~ 101.0 V ( 100.0 V) ( 100.0 V) ( 100.0 V)
100V (60Hz) 99.0 V. ~ 101.0 V ( 100.0 V) ( 100.0 V) ( 100.0 V)
200V 200V (60Hz) 198.0 V. ~ 202.0 V ( 2002 V) ( 200.2 V) ( 200.1 V)
B E<Current> (WIRING:3P4W) CH1 CH2 CH3
*1 5A(9765) ov (DC) 0.000 A ~ 0.050 A ( 0.000 A) ( 0.000 A) ( 0.000 A)
2mV (60Hz) 0.050 A ~ 0.150 A ( 0.102 A) ( 0.102 A) ( 0.100 A)
100mV (50Hz) 4.950 A ~ 5.050 A ( 5.000 A) ( 5000 A) ( 5.000 A)
100mV (60Hz) 4.950 A ~ 5.050 A ( 5.001 A) ( 5001 A ( 5.001 A)
500A(9661-01) 500mV (60Hz) 495.0 A ~ 5050 A ( 500.1 A) ( 500.1 A) ( 500.0 A)
J& % #<Frequency> (WIRING:1P2W)
100V 100V (50Hz) 49.75 Hz ~ 50.25 Hz ( 50.00 Hz)
100V 100V (60Hz) 59.70 Hz ~ 60.30 Hz ( 60.00 Hz)
& J)<Power> (5A:9765, 500A:9661-01, WIRING:3P4W,cos ¢ =1) CHL %2 CH2 #2 CH3 %2
*1 100V 5A 100V oV (DC) 0.0 W ~ 7.5 W ( 0.0 W) ( 0.0 W)( 0.0 W)
100V 2mV (60Hz) 25 W ~ 175 W (102 W) ( 101 W( 100 W)
100V 100mV (50Hz) 492.5 W ~ 507.5 W ( 500.2 W) ( 500.2 W)( 5000 W)
100V 100mV (60Hz) 492.5 W ~ 507.5 W ( 500.5 W) ( 500.4 W)( 500.2 W)
100V 500A 100V 500mV (60Hz) 98.5 kW ~ 101.5 kW ( 100.1 kW)( 100.1 kW)( 100.0 kW)

)1 RDOHeZR<Power Factor> (5A:9765,WIRING:1P2W,cos ¢ =1)

*1 100V 5A 100V 100mV (50Hz) 0.950 ~ 1.050 ( 1.000 )
o 100V 100mV (60Hz) 0.950 ~ 1.050 (. 1.000 )
% <Note>

% ER-E)) ) RREICBITEERAIMEX. 17072 YDA NZHBILTZBEA ) TIT>TOET,

<For the Current, Power and Power Factor inspections, the equivalent in terms of voltage input from the clamp sensor is used.>

*2.CH1=U1 XI(CH1), CH2=U2XI(CH2), CH3=U3XI(CH3)
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<For the Power inspection, the following formulas depending on the wiring are used for output, and a pass/fail decision on the
power value is made for each channel.>

B FR2AR<1P2W>: P=P(CH1)

ZFASHRCIPIWD: P=P(CH1)+P(CH2)

“AR4RR<3PAW>: P=P(CH1)+P(CH2)+P(CH3)

FAILHIE & FTIL. /L —FREL TV ET, <FAIL decision points are highlighted in gray.>

#8 A EE<Overall Result> fr#s & <Inspected by> 7K R <Approved by>
( PASS ) ( ) ( )
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